INDUSTRIAL BRAD NAILER

° e (diASov WAGINIEqgDIdenlaeKIuNSSLISMSTUSaSENSNEVI ST
- y B Sorhikthkuniuma=an

Aluminium forging body.Strong and Light Weight.

suMo (BN, 1@2 J]

autu (Piston) wéommﬁéﬂuﬁ\)éuﬁaa 103V (0-ring) FuNsLEL [ALINNI

(¢] ¢] 1=
! 300,000 ASY LINNIUNSArDIU @ 5 1A
. - . _ One piece piston and Superior grade.O-ring reach 300,000 times,

5X more than usual. N ’
v_ A
B e QWU soniuumuass:maasdivoaa

' A WIdosawavdalaluyau:rviu

The handle is designed according to ergonomics.
It reduces the user’s wrist fatique while working.

T DI -
NUna:uKUD

fosv (f%%%%%

Janaouis)

o °
o - —

INagd 1/4"

L

TnUu

uideonuludsos
uperior grade.

. yunaa:y (Nail Size) T ), Nu
A : e ®  Uaqdon
10-22 mm ; soUu
10 mm (3/8")
13 mm (1/2")
1,200.-/Pc
19 mm (3/4") I []
| — 22 mm (7/8") 10 Pcs/Ctn
10 mm 1.2 mm r—ra : . (
Joyanvinada (Specification) 58[30U (How to use)
- _ - SugbalRa:Beanoumsizoiu
ISVavueUNvLIU 0.4-0.8 Mpa TUﬂU\)']Ug\)IU'IZHU\JTIU1:_l[J1 wawTaﬁn -TagyaﬁUnsn]g‘la;:ﬁur}nnéoum:?ﬁmu
(Operating Air Pressure) s . \).}uus_d-uoﬂ“d\) ASL IJ- a-\) IJ- - [GNuU gau;muu -

3 ‘ - Fwavladioona:oging
lIsvauaga o 0.4 MPa Use for Shoot leather seats, Plastic seat, [ERTAVENIIV= eV URORoE-F Y
(tdlmmum Recommended Air Delivery) arid Wooden box: BPASAaTIE
UdU USS’QCI:L‘! 100 - Read user manual carefully before use.
R TR e Copnchy) pes Yo gunstimelunaon  [eeriikamitt kil
gg:)oﬁum 23x5x17.5cm o O 1 usionoa vy, TN

e - Never point the pneumatic tool at yourself
H I O © 2 ]l_.nlJU'aU or at persons close by.
ulKundaunl < - Working Pressure: 0.4-0.8 Mpa
) 1 Kg i 3.1950 92 7x3 0w - Disconnect the air supply when not using.




S —

(V]
—
o
<
o
LLI
oc
<C
o
Up)

a -

—)
]
N
=),
—
oulyy
2=
“D
o |
=

U

INDUSTRIAL

Ksumd’




suMo  (UIfEMIAL 122 [

INDUSTRIAL BRAD NAILER

SPARE PARTS

Name Specifications Qty Price

-
o

1 Female Hexagonal Screw M5x25

2 Exhaust Cover

3 Spring

4 Rectangular Seal Ring ?18x10x2.6
5 Cylinder Cover

6 O Ring ?18.4x2.4
7 Balance Valve

8 O Ring ?36.3x2.5
9 Valve Gasket

10 Seal Ring For Cylinder Cover

11 O Ring @27.3x3
12 Piston Assembly

13 Housing

14 O Ring (D42.8x2.65
15 Cylinder

16 Cushion Ring

17 Rubber Cover

18 Tail Cover

19 Coupler

20 Flat Washer

21 Shell

22 Baffle Plate

23 Nut

24 Rectangular Seal Ring ?12x7x1.8
25 Valve Stand

26 O Ring ?5x1.9




28
29
30
31
32
33
34
37
38
39
40
41
42
43
44
45
46
48
49
50
5.
52
33
54

SUMO

INDUSTRIAL

Name
Valve Stem
O Ring
Housing
Spring
Rectangular Seal Ring
Pin Roll
Female Hexagonal Screw
Trigger
Female Hexagonal Screw
Regulating Plate
Gasket
Gun Cover
Female Hexagonal Screw
Gun Head
Cylindrical Pin
Female Hexagonal Screw
Head Block
Spring Stand
Spring
Fixed Clip
Moving Clip
Fixed Position Base
Female Hexagonal Screw
Spring
Fixed Hook

Fixed Base

yugonun

BRAD NAILER

1022)

SPARE PARTS

Specifications

?14x19

@5x2
#3x18.5

M4x14

M4x6

?2.5x8
@2x10

M4x10

Price

Qty




SUMO yugonun E 5)(
INDUSTRIAL BRAD NAILER 3@
A21ASoY wacmnaa0aau|u&JUfnamunssuasmsuuamsananamnmw‘ascm
ODH'ITHU'IKUﬂIU'IIIa dan  Aluminium forging body.Strong and Light Weight.

nnnsﬁ

- aullu (Piston) H3a0NIKENITOBUICED TSV (O-ring) GulispaY IduInNIN
300,000 ASY LINNIINSAMTIIU @D 5 11

KBV11a:51090NIVURIAY ana:ygvlua:qa ludasv
Special designed, no nail jamming.

muﬁp 2onIuUMWass:maasiwoaa
A WIboeawavdaloluvtuzriviu

The handle is designed according to ergonomics.
It reduces the user’s wrist fatique while working.

Janaouié

?& HERe

1/4"

TnUuvandon
svUu

piece piston and Superior grade.

yuaa:y (Nail Size)

Ko8vlia:s1voUu soniuuwiAu

im" 10-30 mm ana:yavlua:qana:lidasio
(¥l Special designed, no nail jamming.
__ 10mm(@/8Y Kogva:y

V. o 1,100.-/Pc
Y 10 Pcs/Ctn

__ 30mm(13/16" 1.4
125mm
JayanvinAln (Specification) 581301U (How to use) -
= O'IUF\UENKE\ Iaannaum" ilvall]
1SVAUEURLIU goinuld nsousy § 16z 1M3 viulUT  [EETEREISTRS e st
(Operating Air Pressure) 0.4-0.8Mpa 50U iWulusa Tavll dns:idov TU'*UU*:E‘”‘”"“U .
= go Viia:
Isvaud1an 0.4Mpa  1UMasnos v annavnglu ol s
(Minimum Recommended Air Delivery) : Use for shoot wood, picture frame, cabinet, - no0agauanitaliiglsou
SuduUssIa:U table, chair, bamboo work, tile, furniture and i e e e

(Maximun Mag'azinz Capacity) 100 pcs interior decoration. - Always wear protective glasses and ear

. ' rotectors during operation.
UUN03UA L) DU ﬂSfU.ﬂ’]UTUﬂaa\) - %nlg use comp?tagssgd air. Do not use other
: 24x5.3x18.5 cm . air source.
(Size) @ 10 L]S noa 4 Uu. - Never point the pneumatic tool at yourself
5 — @ or at persons close by.
ulKunNauAn 1 I ( 2] Ln yuau -Working Pressure: 0.4-0.8 Mpa
(Weight) g 3. TE)S\} @2 7 x 3 UL. - Disconnect the air supply when not using.




IR 30
SIZA A IS

BRA

J

U

INDUSTRIAL

R§UM©®



SUMO Uugonon 3@

INDUSTRIAL BRAD NAILER

SPARE PARTS

NO Name Specifications Qty Price
1 Female Hexagonal Screw

2 Exhaust Cover

3 Spring

4 Rectangular Seal Ring ?18x10x2.6 20.-
5 Cylinder Cover

6 O Ring ?18.4x2.4

7 Balance Valve

8 O Ring ?36.3x2.5

9 Valve Gasket

10 Seal Ring For Cylinder Cover

il ORing @27.3x3 20.-
12 Piston Assembly 80.-
10 Housing

14 O Ring ?42.8x2.65

15 Cylinder

16 Cushion Ring 20:-
17 Rubber Cover

18 Tail Cover

19 Coupler

20 Flat Washer 20.-
21 Shell

23 Nut

24 Rectangular Seal Ring @P12x7x1.8

25 Valve Stand

26 O Ring @?5x1.9

27 Valve Stem




SUMO Uugonon 3@

INDUSTRIAL BRAD NAILER

SPARE PARTS

Specifications Qty Price

28 O Ring ?D14x1.9
29 Housing
30 Spring
31 Rectangular Seal Ring @D5x2
32 Pin Roll ?3x18.5
33 Female Hexagonal Screw M5x18
34 Trigger
37 Female Hexagonal Screw M4x10
38 Female Hexagonal Screw M4x8
39 Regulating Plate
40 Gasket 4

'l 41 Gun Cover
42 Female Hexagonal Screw M4x14
43 Gun Head A
44 Cylindrical Pin ?2x10
45 Female Hexagonal Screw M3x12
46 Head Block
47 Gun Head B
48 Slug
49 Spring
50 Fixed Clip
52 Moving Clip
53 Fixef Position Base
54 Spring
a3 Fixed Hook

Fixed Base




SUMO Uugonon E @

INDUSTRIAL BRAD NAILER

e o @ISy wacmnaanaau|uauTcwmunssuasmsuuamsananamomwascmo y:
N B . Sorhikthkaniunazan Y,

Aluminium forging body.Strong and Light Weight.

autlu (Piston) WacnIkaNIBVBLIGE? 198V (O-ring) FUISLEL Tomnrm

o o g1 =
,., "sv 300,000 ASY LN IASAMIU @9 5 11
= B One piece piston and Superior grade.O-ring reach 300,000 times,

5X more than usual.

"BRAND

b L] 1
0TV sonivuanuass:maasivoaa
“|Amuiasdwavdalaluyruzioiu

é !r': The handle is designed according to ergonomics.
It reduces the user’s wrist fatique while working.

£/ 4 SnauIs
£ Uanaouisd

/m. N8O
4 % 1/8"

s100uldanndn

e piston and Superior grades__, | /
YuNQQ:y (Nail Size)
Zm" 10-50 mm

—— 10 mm (3/8")
— 15 mm (5/87)
—— 20 mm (3/47)
— 25mm (17)

g 1,500.-/Pc

e | 10 Pcs/Ctn

InUudaadon
S1DUu

.

s [E)
i BRAD NAILEE

—— 50 mm (2%) 1.25mm
JoyanivinAlA (Specification) 581501U (How to use)
- SugDalRa:deansumsizou
T 4 goinull nsadsy g 16: 13 v1uluTi - aousUnsalapfiunnagounETvu
(Operating Air Pressure) 0.4-0.8 Mpa raikdnu1v IWUIUSa Tavlu Aans:dav mnuu?ammuu >
3 - Fuavladiovia:nnosing
us_\)_aucna;o L 0.4 MPa VIUIWOSTINAS \)'IUCI.ﬂIIO\)ﬂ']UTU . - ISPAUALTIU 0.4-0.8 Mpa
(Minimum Recommended Air Delivery) Use for shoot wood, picture frame, cabinet, - noaensaussniboliidlEviu
2, % table, chair, bamboo work, tile, furniture and )
TnU:)UUSSQCl-q 100 ey ik docontion - Read user manual carefully before use.
(Maximun Magazine Capacity) PCS - - Always wear protective glasses and ear

1 1 tectors duri tion.
yuladuml 942t 2375 cm &@O aLJﬂSfUn-]ﬂTUﬂaDU —ggly u;:iorl:]g?gssgjr;r_o[?o not use other
X L air source.
(Size) il U S:RI1Da 4 UU. - Never point the pneumatic tool at yourself

B e or at persons close by.
unKundun 1.3 K O@ . U'] uau - Work?r?g Pressure: 0_':'1—0_8 Mpa )
(Weight) - g e 3. TE)S\') @27 x 3 V. - Disconnect the air supply when not using.




®.

SUMO yugonun CE0)

INDUSTRIIAL BRAD NAILER

SPARE PARTS




SUMO “Uugonin E50)

ININDUSTRIAL | BRAD NAILER

SPARE PARTS

Name Specifications Qty Price

=
o

1 Female Hexagonal Screw

2 Exhaust Cover

3 Cylinder Cover

4 Seal Ring For Balance Valve

5 Exhaust Cover Spring

6 O Ring 19.5x2.4
7 Balance Valve

8 O Ring 38.7x2.5
9 Flat Ring For Balance Valve

10 Housing

11 Seal Ring For Cylinder Cover

12 O Ring 29.3x3
13 Piston Assembly

13(A) | Piston
13(B) | Priming Wire

14 Cylinder

15 O Ring 32x2
16 Housing

17 O Ring 50x2.5

18 Cushion Ring
19 Rubber Cover

20 O Ring 44.5x3.5
21 Tail Cover

22 Coupler

23 Plate

24 Female Hexagonal Screw M5x22
23 Flat Washer

26 Rectangular Seal Ring 12x8x1.5
27 Valve Stand

28 Spring

29 Valve Stem
30 O Ring 5.5x1.5

R = R R R RNRRRRRRERRRERNRERRRERRRRRPEPRNERRERERRREIRI-EREND>N




SUMO Jugonon E50)

ININDUSTRIVAL BRAD NAILER

SPARE PARTS

Name Specifications Qty Price

Valve Housing

32 O Ring 14.2x1.'8
33 Rectangular Seal Ring 5x2

34 Trigger

35 Insurance Washer

36 Flexible Round Pin Roll 3x14
37 Pin Roll 3x21.5
38 Insurance Frame

39 Female Hexagonal Screw M4x10
40 Insurance Cover

41 Insurance Nozzle

42 Gun Cover

43 Female Hexagonal Screw M4x14
44 Gun Head

45 Female Hexagonal Screw M4x6
46 Flat Washer 4

47 Sliding Clip

48 Plastic Washer
50 Fix Stand

51 Female Hexagonal Screw M4x12
52 Spring Washer 4

53 Driver Head

55 Spring For Diver Head

56 Pin Roll 3x18.5
57 Fix Stand

58 Hook

59 Shell

60 Guide Pin
61 Trigger Spring
62 Female Hexagonal Screw M5x10

F R R R R R RNRNNRRERERWRRNERRRWRRRERBENRE®R

Lock Screw




it 00010 565

° o daiadov WANINIAQagDIdeulasrunssUIEMSTudasendnatImasa
. 5 : JoriiRtkaniuma=&n

Aluminium forging body.Strong and Light Weight

autu (Piston) wammmém[ﬁ\)ﬁumm 195V (O-ring) BUIIsLEY [AUINNI

o o B
H "sv 300,000 ASY LNNN3INSAMIU @b 517
o W One piece piston and Superior grade.O-ring reach 300,000 times,

5X more than usual.

v (aan

_Juna

d’IUD:U 2onIuUMUass:Amaadiwoaa
A WIDDgaWwavdalaluytu:riviu

The handle is designed according to ergonomics.
It reduces the user’s wrist fatique while working.

i 4

Jandouis

o )

INagd

% 1/4"

InUuvaandon
s1voUu

10-50 mm

FST Boyu Taolo :
3.3mm 29 mm o ,r - N,
~ Swluldannuimess
S Ko8va:ynuuuiagd
e o 3,200.-/Pc
= ey - 1 5 Pcs/Ctn
Joyan1vinAlA (Specification) 351501U (How to use)
= e Bl - 5urdolRazBearioumsidvu
ISLALEUELIU e a:y FST : [580Uu 513 A2 00 20 T-U1S [t e T et
(Operating Air Pressure) A4-0.8Mpa  .j 1. T580aulU Tasol wrian -75?7“”*?13“‘“““ -

: - - Kwgvldaiaona:Ihaging
1ISvaudda . 0.4 MPa  FST Nail : Use for shoot cement, wood and |8 ,,Sgauun::ﬁ.mu 0.4-0.8 Mpa
(Minimum Recommended Air Delivery) Ebar T S o R
91udUUSSIO:Y 100 pes T Nail : Use for shoot wooden box, wood structure -SSRy pr W,
(Maximun Magazine Capacity) P and pallets. - Atv!faycts wet:lr protective glasses and ear

s ' rotectors during operation.
yunadum 2 qUnsmma?unaa\) -%nlg use comp?gssgd air. Do not use other
(Size) 28.5x7x24.5 cm i air source.

- ) 1 t{s:uauaa 4 Uu. - Never point the pneumatic tool at yourself
lj..m['mauﬁ-l 4 2. ulJuau or at persons close by.

X5 - Working Pressure: 0.4-0.8 M
(Weight) 2.2 Kg O O 31030 027 x 3 L. Dokt ek supply Sheh s using.




A o000 = S50

Uu Ila:m SPARE PARTS

b1 =

C

B¢
392

40—
1—@

4 45
v\

o
46-__55‘,).

O 0 @ @ @ @ @




e UHERTIESINST)

golany .
Junazlus SPARE PARTS

Name Specifications Qty Price

=
=)

1 Female Hexagonal Screw M5x30

2 Exhaust Cover

3 Rectangular Seal Ring @22x3

4 Cylinder Cover

5 O Seal Ring 019.5x2.4
6 Exhaust Cover’s Compression Spring

7 O-ring @P45x2.5

8 Valve

9 Valve's Washet

10 Seal Ring For Cylinder Cover

11 O-ring ?36.3x3.5
12 Piston Assembly

13 Shrink Ring

14 O-ring ©62.1x2.65
15 O-ring @44.3x2.5
16 Cylinder

17 Cushion

18 Casing

19 Ubber Part

20 O-ring ©51.6x3.5
21 Tail Cover

22 Valve Plug

23 Female Hexagonal Screw M5x25

24 Spring Washer 5

25 Board

26 Rectangular Seal Ring ©P12x7x1.8
27 Valve Block

28 O-ring @5x1.9

29 Valve Stem

30 O-ring ©14x1.9
31 Pneumetic Valve's Housing

32 Trigger Pressure Spring

33 Rectangular Seal Ring




e RIS

golany .
Juna:lul SPARE PARTS

NO Name Specifications Qty Price
34 Wrist @3x18.5

35 Spring Slip

36 Trigger

37 Insurance Block Assembly

38 Pin

39 Pressure Spring

40 Opening Ring 4

41 Button

42 Positioning Axes

43 Retainer

44 Spring Washer 4

45 Female Hexagonal Screw M4x10
46 Gasket Ring

47 Female Hexagonal Screw M5x10
48 Gun Cover

49 Female Hexagonal Screw M5x18
50 Gun-head

Sl Fixing Seat

52 Sliding Strip

53 Plug

54 Plug Long Spring
55 Moving Slip
56 Plastic Heel

57 Position Seat

58 Female Hexagonal Screw M4x16
59 Female Hexagonal Screw M4x8
60 Fixing Seat

61 Wrist ?3x18.5
62 Position Hook’s Knob-spring

63 Positioning Hook

64 Female Hexagonal Screw M5x16

65 Flat Cushion




SUMO Uugvonin STEA

INDUSTRIIAL BRAD NAILER

(c] e] nalnsa\) waomnaaoaamuauToamunssu:)smsuuamsananamom
- : : - Jorhikthkunivia:an
- N— ! Aluminium forging body.Strong and Light Weight.
o~ aubu (Piston) WacmNIk&NITVBUIGE) 195 (O-ring) BUSYEY [GUINNIT

”H "sv 300,000 ASY LINN3INsarHlU 8o 5 i
“~ = One piece piston and Superior grade.O-ring reach 300,000 times,5X more than usual

= Dy gl P _ .
golany P Ptoroma
L ' Wibagdwovdaloluyru:riviu
U - _ : ‘The handle is designed according to ergonomics.
u I I a - U - e It reduces the user's wrist fatique while working.
Y —— Uanaduigo

WaQIUUWALEUISHEIGUINNG
300,000A%0 LINNFUNSArDIU &Y 51
O-ring reach 300,000 times, 5X more than
usual.

Tntu - A 1nagd

- J;:’ 1]
e B - s s0U UTa.Qﬂ[IGﬂ - e
audu 1f
waaonikanugusuidednulidsos
One piece piston and Superior grade.
InUuvaandon
yu1QQ:y (Nail Size) s100u

csmm 18-64 mm

ST/WT 8oyu/I0

18 mm (3/47)

Kagva:Jiuuuided

i 3,600.-/Pc
o 6 Pcs/Ctn

57 mm (2-1/4") ot

_ 64mm(2-1/27 2.2 mm

LS

doyanvinala (Specification) 3815v1U (How to use)

a:U ST : 168odu Tondo A2 U N T-US  [BRATAIRRIGERRE e e ialt
= 5 - aauaUn:mUa\)ﬁunnnswm 130U

e 0.4-0.8Mpa  a:y WT:fdgvavliovnu wiaa Uula I sl
oAl o Tasokava Tavly - RuBoTacievna:Rriogia
(Minimum Recommended Air Delivery) 0.4 MPa ST Nail : Use for Shoot cement, Wood and T-bar.  [REANGRR A RAT KOS a oA A0 =H

WT Nail - Use for Shoot Wooden box, Pallets, Ladder IEsicianeeleollelinyly

- Read user manual carefully before use.
75 pcs and Roof frame. - Always wear protective glasses and ear

- ' protectors during operation.
E!Uﬂsmm BTU Naoy & Only use compressed air. Do not use other

91UdUUSSYO:Y
(Maximun Magazine Capacity)

(Z.‘Is‘iL:;I)OHUFI'I 30x8.5x27 cm air source. .
1. Lls:uauaa 4 U, - Never point the pneumatic tool at yourself
oo = or at persons close b
umunaum 2.8 Kg 2. U'I_UUE'ILI - Working Pressure: 0%-03 Mpa
(Weight) 3. TaS\) Y @ N[V - Dicconnect the air supply when not using.




SUMO Jugonin S1T64

FNINDUSTRIAL BRAD NAILER

golany

Juna:[u

SPARE PARTS




SUMO dJugonun gT@ A

INDUSTRIAL BRAD NAILER
golany - %
Juna:it SPARE PARTS

Name Specifications Qty Price

-
o

1 Female Hexagonal Screw M6x35

2 Spring Washer 6

3 Exhaust Cover

4 Rectangular Seal Ring ?22x3

b Cylinder Cover

6 Exhaust Cover’s Compression Spring

7 O Seal Ring 018.4x2.4
8 O Seal Ring

9 Valve’'s Washet ?63.3x2.5
10 Valve

11 Seal Ring For Cylinder Cover

12 O-ring (?51.6x3.5
13 Piston Assembly

14 Housing

15 O-ring @74x3

16 O-ring ?57.7x2.6
L7 Cylinder

18 Cushion

20 Casing

21 Rubber Part

22 O-ring D74x2.65
23 Tail Cover

24 Coupler

25 Valve Block

26 Stem compression spring P11x1.4
27 O-ring ?6.5x1.9
28 O-ring

29 Valve Stem

30 Female Hexagonal Screw M5x16

31 Rectangular Seal Ring 04.3x011.3x2.5
32 Pneumetic Valve’s Housing




SUMO dJugonun gT@ A

INDUSTRIAL BRAD NAILER
golany - %
Juna:it SPARE PARTS

NO Name Specifications Qty Price

33 O Seal Ring ©15.7x2
34 trigger assembly

37 Wrist @3x33
38 Insurance Block Assembly

39 Female Hexagonal Screw B5x2
40 pressure spring

41 insurance handle

42 insurance head

43 Female Hexagonal Screw M5x12
44 gun cover

45 Female Hexagonal Screw M5x20
46 Spring Washer 5

47 Gun-head

48 Plug

50 Moving Slip

51 Plug Long Spring

52 Sliding Strip

53 Fixing Seat

55 Spring Washer M4x16
56 Spring Washer 4

57 Nut

58 Plastic Heel

59 Positioning Seat M4x16
60 Female Hexagonal Screw

61 Fixing Seat 4

62 Spring Washer M4x8
63 Female Hexagonal Screw ©@3x18.5
64 Wrist

65 Position Hook’s Knob-spring

66 Positioning Hook




(€ 150 9001:2008

700.-

10 Boxes/Carton

mslBow  ssnumang wneuil usaasin

i

Dimension: 55x170x240 mm. 4.0mm.

Weight: 1.4 kg. (3.0Lb) —
Required Pressure: 60-100psi (4-7bar) ( )
Max.Pressure: 120 psi (8.3bar) 6;';;“;
Nail Capacity: 100 pcs
Stapler Width: 4.0 mm. 22mm
Stapler Range: 6-22 mm. (1/4"-7/8") 718

= Ga20
UUTﬂ@ﬂ”Uﬂ Ga.20 : 406J » 422J \ Vim 12x36mm

A

SHAB: 20020813
& 5 1




C€ 150 9001:2008

1,400.-

10 Boxes/Can:on

Wi

mislsow mmunm'\uaumﬂmﬁi‘lu”mmummuﬂ
Ei0) n‘a"a‘usﬂ Nunasiiiaag built in § uldla
viatuanuy wiuldan NuAdaIn1sANNL s Gin
vidafauudunwan q azlaivinlildE-uanladae

Dimension: 45x162x215 mm.
Weight: 1.0 kg (2.2Lb) Light weight die-cast alu.body
Required Pressure: 60-100 psi (4-7bar) . Ha?rdenedgox:dlzed alu. magazme ‘strong

Max Pressure: 120 psi (8.3bar) and light weight. e

Nail Capacity: 140pcs * Touch-strike security system is safe for

Nell GA\.25 £10.62 D o wga%?gsr.gt?nri'n for perfect decoration without mark

Nail Range: 12-25mm (1/2"-17) ¢ Nail length regular automatically to desire pin Iength: _— =

@ Ga.23 : 12-25 mm.

No. | Description |Nn.| Description .| Description |N0.| Description
1 | Bolt M5x20 15 | Bumper 28 | Driver Guide 41 | Pusher

2 | BExhaust Cap 16 | Gun Body 29 | Spacer 42 | Pipe

3 | Compressed Spring 17 | Rubber Washer 30 | Driver Guide Cover 43 | Pusher Spring
4 | Rectangle Washer 18 | Rectangle Washer 31 | Bolt M4x14 44 | Bolt M4x4
5 | Cylinder Cover 19 | Trigger Valve Seat 32 | Bolt M4x6 45 | Bolt M4x8
6/7 | O-ring 11.7x2.4 [/ 26.2x2.4| 20 | Trigger Valve Stem 33 | Fixed Magazine 46 | Fixed Slice
8 | Head Valve Piston 21| O-ring 1.7x2 34 | Adj. Slice 47 | Bracket

9 | O-ring 33x1 22 | Trigger Valve Guide 35 | Adj. Length Bolt 48 | Spring

10 | Collar 23 | O-ring 11.2x2 36 | Fixed Pin A4x6 49 | Fixed Lever
11 | O-ring 26.7x2.65 24 | Compressed Spring 37 | Movable Magazine 50 | Nut M5

12 | Cylinder 25 | Step Pin 38 | Adj. Lever 51 | O-ring

13 | O-ring 15.7x2 4 26 | Trigger 39 | Nail Length Indicator 52 | End Cap

14 | Main Piston 27 | Snap Retainer 40 | Driver Guide Piston 53 | Air Plug




. Hﬁ"ﬂ@?nﬁoﬁ@mnqwgmqn?ﬁwi’u AEILATRIANG
DUNUANE

* IUIUATUNNNADY WINUNIANINTIU
* TUUTIIANIATFIUAING

QﬂllﬁﬂUTfl: I nutlutianan 422J

AxB

(mm.)

Packing
10,000 pcs./box

Price/Box

406J | 4x6 ] 9178
408J | 4xg | SO pesmbox| g .
mod | axig | R 82.-
413J | 4x13 | S0 pestox | 96.-
416J | 4axi6 | 2OpPevmoc| 112.-
419J | 4ax19 | 2% P | 132.-
a223 | .asen | PR 62

v N

Ga 20 .
H1.2x0.6mm

Qﬂllﬁﬂﬂ’l@: I nuilusianun 10224

Packing

Price/Box

>0% boxon | 168.- A__,
1006d | 106 | *Beerl 7o | —— V1
1008J | 10x8 | S0P pesbox | gq
1010J | 10x10 | PO P2ox] gp.
1013J | 10x13 | PR posiox ] 449 2
1016J | 10x16 | *°8 Bovien: | 128.-
1019J | 10x19 | *%0 bowem: | 152.- | | oo s
10224 [ 10x02 | *99 BS2oX | 164.- W1.2x0.6mm

CRUIURTR IO 17t flusiaudin ST-64

| Model | (42, -y

WT-18 [ 2.0x18 | 700 pesox ] 4q5 T
WT-25 | 2.2x05 | 10 p=hbox] oag |

WT-32 | 29332 | R EETa] oo

WT-38 | 2.2x3g8 | W0 pesbox | o556, B
WT-45 | 2.0xa5 | 00 pesbox | 972 -

WT-50 [2.2x50 | "0 Pes/box | 33

WT-57 [ 2.2x57 | 050 Besox | 352.- V .
WT-64 | 2.2x64 | 000 Pesbox | 368.- g L

anunuinyo

Model

AxB
(mm.)

Packing

5,000 pcs./box

UoAUYNAD

Price/Box

F-10 | 1x10 | ®%Q perox | 69.-
F-158 | 1xis | 2Rl | 72
F-20 | meg | PR | 80.
F-25 | 1x25 | >P)Pesbox | 108.-
F-30 | o0 | *%0 oy | 126
F-35 | 1x35 | >%0% Bovem: | 168.-
F-40 | 1x40 | ®°% boven | 192.-
F-45 | 1xa5 | >%2 pesbox | 208.-
F-50 | 1x50 | *%% Bovenm | 240.-

anuinuinuo

Model

AxB
(mm.)

Packing

Price/Box

T-25 |1.5x25 | *000 p=mex] 200.s
T-32 |1.5x32 | *% poioex | 216.-
T-88 |'1.5%38 | " REC | 232
T-45 |1.5x45 | >O0 Pobox | 248.-
T-50 [1.5x50 | ®%% bovecx | 264.-
T-67 |1.567 | et

T-64. |'1.5%64 | R

Model (?nxrﬁ) Packing Price/Box |§
ST-18 |2.2x18 [ 090 Pes/box | 176 -
ST-25 |p.oxos | 90 Pebax| 200«
ST-32 [2.2x32 | 909 pesbox | 229, -
ST-38 |2.9x38 | "%p pesbax | 279 .
ST-45 |2.2x45 | 99 pesbox | 304.-
ST-50 | 2.2x50 | "% pesbox | 320.-
ST-57 |2.2x57 | 050 Pesbox | 343.-
ST-64 [2.0x64 | "0 Poxbox | 384.-

2.0mm.—

)

i

V.

ldnuilugiauiin F30, F50B

Fy

Ga 18
H1.25x1.00mm

2.6mm —

J

ldnuilugiauin FST50

Ga 16
H1.60x1.40mm

MM ——

ST &

HE Y

CRUQUATREIIM 471 lugusin ST-64

Ga 14

A:. @2.2mm



SUMO

INDUSTRIAL

iAo Uit UKD

) (&) @] (@[] m

WE0DINAIAAUNIWGD
Q291ASaVINSIUNUETY
UKUNnldu1assu
sundvldulasgiuaina

U1A

zi'lufi'uﬁquw?iaﬂmwa QL 1A: Read all safety warnings and all
donu-thAokua n1sIUUFUA0IY  instructions. Failure to follow the
Andauna-danu-than1duaiivg warnings and instructions may

TRIdsuuoiSuadnsienso cause serious injury.

s18a:199qaun (Specification)

< T ol — L=
GRUIVERE (sauUugonin 422)
Use for Brad nailer 422]

anndnyA (su) Uld'!g_C':Q AWKUY  |uhkun/ndav| $1uduussea:y s1A
Model (e\:.quge Thickness Net Weight/Box Packing Price
/o - o 5,000 Pcs/Box 80.-/Box
406J X6 mm .2 mm
° 30 Box/Ctn 2400.-/Ctn
5,000 Pcs/Box 84.-/Box
408) 4x8 mm 1.2 mm 4409
30 Box/Ctn 2520.-/Ctn
5,000 Pcs/Box 88.-/Box
410) 4x10 mm 1.2 mm 520g
30 Box/Ctn 2640.-/Ctn
5,000 Pcs/Box =
413) 4x13 mm 1.2 mm 64049 110.-/Box
30 Box/Ctn 3300.-/Ctn
5,000 Pcs/Box -
416) 4x16 mm 1.2 mm 7709 130.-/Box
20 Box/Ctn 2600.-/Ctn
5,000 Pcs/Box -
419) 4x19 mm 1.2 mm 890 g 150.-/Box
20 ogfm 3000.-/Ctn
5,000 Pcs/Box _
422) 4x22 mm 1.2 mm 1.01 kg 170.-/Box
20 Box/Ctn 3400.-/Ctn




SUMO

INDUSTRIAL

- iwwdu0 U e U KUY

) (=) (] (@) (@] (k)(m]

* Waav1NadaAUNIWGY
G291AS2VINSIUNUANY

« ukunldurasgiu

+ yungvldurasyiuaina

yunaa:y
Nail Size
(WxH)

ADTUKUN

Thickness

“uIA

dnKun/ndon
Net Weight/Box

aniin

%O

donu=RDKUO MSIUUGUGO instrctions.

VR T5autugonin 1022)
Use for Brad nailer 1022J

(WRORONR)

BUANGOUINSADUUADOTE IG: Read all safety warnings and all

Andsuna-donuthenmibuanikg  warmings and

TRIdsunauseoshaise

S18a:199adun (Specification)

9IUduUSSYO:Y

Packing

CAUSE SEriOus injury.

S

Price

5,000 Pcs/Box 74.-/Box
1004)J 10x4 12 300
[ = am i g 40 Box/Ctn 2960.-/Ctn
5,000 Pcs/Box 76.-/Box
1006J 10x6 mm 1.2 mm 480¢g
30 Box/Ctn 2280.-/Ctn
5,000 Pcs/Box 80.-/Box
1008J 10x8 mm 1.2 mm 560 g
30 Box/Ctn 2400.-/Ctn
5,000 Pcs/Box 84.-/Box
1010J 10x10 mm 1.2 mm 6509 /
30 Box/Ctn 2520.-/Ctn
5,000 Pcs/Box -
1013J 10x13 mm 1.2 mm 770g 110.-/Box
30 Box/Ctn 3300.-/Ctn
5,000 Pcs/B =
1016J 10x16 mm 1.2 mm 900g & o 130.-/Box
20 Box/Ctn 2600.-/Ctn
1019J 1010 ram S 1.03 kg 2R e B0 150.-/Box
20 Box/Ctn 3000.-/Ctn
1022 007 mm N 1.15 kg e 170.-/Box
20 Box/Ctn 3400.-/Ctn
P GuAmmaoidn Daum




SUMO

INDUSTRIAL

: IKI fTU\)"rUILI~
LIOIEIE

wéomnamn tUNTWE D
A2gIAS ovINSaUNuUalY

ukunlduiassu

gull gold unasyiuanna

AT
danu=thriokua

Fdausa-danu: 21 LIB'IIhCI warnings and instrictions may
N TRidsuuaifua TEMSD

CRUIRY T5rutiudonin F30,F50

dallak3le] Use for Brad nailer F30, F50

R Fig mF;s

i
Iy
LIS Lo -

s1ga:199aduAn (Specification)

anndnunded (Su)| vuraay ADTWKUN twan | uduussya:y s
' Model Ng!uxsl_n;e Thickness Net Weight Packing Price

= o mm o 420 5,000 Pcs/Box 70.-/Box
20 Box/Ctn 1400.-/Ctn

£ e i g 6304 5,000 Pcs/Box 74.-/Box
20 Box/Ctn 1480.-/Ctn

o o - 840 g 5,000 Pcs/Box 94.-/Box
20 Box/Ctn 1880.-/Ctn

1 s m o 1.05 kg 5,000 Pcs/Box 112.-/Box
20 Box/Ctn 2240.-/Ctn

e e — 1.25 kg 5,000 Pcs/Box 132.-/Box
20 Box/Ctn 2640.-/Ctn

S e 1mm 1.47 kg 5,000 Pcs/Box 174.-/Box
10 Box/Ctn 1740.-/Ctn

T e - 1.68 kg 5,000 Pcs/Box 190.-/Box
10 Box/Ctn 1900.-/Ctn

e T i 1.89kg 5,000 Pcs/Box 210.-/Box
10 Box/Ctn 2100.-/Ctn

oD o e 21kg 5,000 Pcs/Box 230.-/Box
10 Box/Ctn 2300.-/Ctn




SUMO

INDUSTRIAL
) () (&) (] () (D ]

Waav1nadsanuNIWgv
Q2g1AS avINsaunuaue

uKkunldulasou

gundvldurasgiuaina

UUaa0MA 113: Read all =
SIUFUT0W  instruct

SUVRY 5rutludoniin FST50
U1 |(_'_]'8:) Use for Brad nailer FST50

s18a:198aaun (Specification)

Y ded (Su) ""j;‘lgggq AWKLUY  |uhkun/ndav| $1uduussoa:y s1
Model (WxH) Thickness Net Weight/Box Packing Price
FST15 1.8x15 mm 1.8 mm 510g ot Besibox 210.-/Box
10 Box/Ctn 2100.-/Ctn
FST18 1.8x18 mm 1.8 mm 540 g MRl 230.-/Box
10 Box/Ctn 2300.-/Ctn
FST20 1.8x20 mm 1.8 mm 570 g e B box 250.-/Box
10 Box/Ctn 2500.-/Ctn
FST25 1.8x25 mm 1.8 mm 740 kg LR B 270.-/Box
10 Box/Ctn 2700.-/Ctn
FST30 1.8x30 mm 1.8 mm 870 kg R0 R Box 290.-/Box
10 Box/Ctn 2900.-/Ctn
FST35 1.8x35 mm 1.8 mm 1.10 kg L300 P Box 310.-/Box
10 Box/Ctn 3100.-/Ctn
FST40 1.8x40 mm 1.8 mm 1.20 kg LR R 330.-/Box
10 Box/Ctn 3300.-/Ctn
FST45 1.8x45 mm 1.8 mm 1.29 kg 1200 Bes Box 350.-/Box
10 Box/Ctn 3500.-/Ctn
FST50 1.8x50 mm 1.8 mm 1.46 kg LIRS 370.-/Box
10 Box/Ctn 3700.-/Ctn




SUMO

SINDUSTRIAL

®1KUN=AU vIUUU naun‘s‘o
- Tmuauuw UuTo U:JT WI0UDS

-

@

aniun 5

Type

aﬂIIUﬂ fsautudvnin STe4

. . . E] . . E] U'HOEJ:) Use for Brad nailer ST64

* Waav1nadsanuNIWgL
algIASavInsaunuany

- U"kunldurassu

+ yundvldurasyiuaina

Andauna-danu: Lhmmﬂua'nm wiar
TRldsuuoiiuasnodansy

s1ga:198qaun (Specification)

anndnuuded (Su) “‘d;‘lggeq AWKUY  |Uhkun/ndav| $1usuussoa:y s
Model (WxH) Thickness Net Weight/Box Packing Price
L . e 530 1,000 Pcs/Box 190.-/Box
10 Box/Ctn 1900.-/Ctn
o sy iyl 7304 1,000 Pcs/Box 230.-/Box
10 Box/Ctn 2300.-/Ctn
SEY) 22x32mm | 2.2mm 930 g 1900 Pes/Box 270.-/Box
10 Box/Ctn 2700.-/Ctn
ST38 22x38mm | 2.2mm 1.05 kg 1000 B box 310.-/Box
10 Box/Ctn 3100.-/Ctn
ST45 22x45mm | 2.2mm 1.35 kg LOUGPes Box 350.-/Box
10 Box/Ctn 3500.-/Ctn
ST50 22x50mm | 2.2mm 1.45 kg DL P 380.-/Box
10 Box/Ctn 3800.-/Ctn
ST57 22x57mm | 2.2mm 1.65 kg 100G Bes box 420.-/Box
10 Box/Ctn 4200.-/Ctn




SUMO

INDUSTRIAL

anﬁumuTLiﬁaTw -

AL

)] (&) () (@] () (k]

* Waav1nadanmuNIWwgv
AJgIASavVINSaUNUal Y

tkunlduiasou

sungvldurasgiuaina

anuinunded (Su)

UG DU/ WARNI

|
Won21UUaa0AY I3: Re warmings a
misliujoaaw i
Andauna:-tanu-Uo10uansg wa
Taldsuunaiuagtosionse

instructions m

s18a:198qduA (Specification)

yunaa:=y

annun G

Type

E:!ﬂ",ﬁﬂ Sauludvoniin ST64
U1 |(_]'8:) Use for Brad nailer ST64

L AWK |ukuin/nadav| $1uduussaazy s

Model G Thickness Net Weight/Box Packing Price
TiE s e 5304 1,000 Pcs/Box 180.-/Box
10 Box/Ctn 1800.-/Ctn
WS v e 7304 1,000 Pcs/Box 220.-/Box
10 Box/Ctn 2200.-/Ctn
i e S 930 g 1,000 Pcs/Box 260.-/Box
10 Box/Ctn 2600.-/Ctn
as Sy S 1.05 kg 1,000 Pcs/Box 280.-/Box
10 Box/Ctn 2800.-/Ctn
WT45 22x45mm | 2.2mm 1.35 kg WESEEEE | RIS
10 Box/Ctn 3000.-/Ctn
WT50 22x5s0mm | 2.2mm 1.45 kg ARSI | B
10 Box/Ctn 3200.-/Ctn
WT57 22x57mm | 2.2mm 1.65 kg RSESHERS | Rt
10 Box/Ctn 3400.-/Ctn
WT64 22x64mm |  22mm 1.85 kg WIREREERT | pe bl
10 Box/Ctn 3500.-/Ctn




HAnAINagHLle

AMNINGS Wlatuilen o _
Tsenundn la5unnmsgau 1ISO 9001:2008 v | S :
51 AN LHTINMBNRANNY 7% P

| | inch. | mm. |  PACKING |
t? SIZE Price/Box

Pcs/Box | Box/Ctn
4-1 1/8'x3/16" | 3.2x4.8 1000 20 195.-
4-2 1/8'x1/4" | 3.2x6.4 1000 20 205.-
4-3 | 1/8x5/16" | 3.2x8.0 1000 20 225.-
4-4 1/8'x3/8" | 3.2x10.0 | 1000 20 240.-
4-5 | 1/8x7/16" | 32x11.4 | 1000 20 290.-
4-6 1/8'x1/2" | 3.2x12.7 | 1000 20 315.-
4-8 1/8'x5/8" | 3.2x16.0 | 1000 20 410.-
410 | 1/8'x3/4” | 32x19.0 | 1000 20 470.-
52 | 5/82'x1/4" | 4.0x6.4 1000 10 375.-
53 | 5/32'x5/16" | 4.0x8.0 1000 10 390.-
54 | 5/32'x3/8" | 4.0x10.0 | 1000 10 405.-
55 | 5/32’x7/16" | 4.0x11.4 | 1000 10 445.-
56 | 5/32'x1/2" | 4.0x12.7 | 1000 10 465.-
58 | 5/32'x5/8" | 4.0x16.0 | 1000 10 510.-
6-2 | 3/16'x5/16" | 4.8x8.0 500 10 275.-
6-3 | 3/16'x3/8" | 4.8x10.0 500 10 280.-
6-4 | 316'x7/16" | 4.8x11.4 500 10 287.-
6-5 | 816'x1/2° | 4.8x12.7 500 10 292.-
6-6 | 3/16'x9/16" | 4.8x14.5 500 10 297.-
6-7 3/16'x5/8" | 4.8x16.0 500 10 322.-
6-8 | 3/16'x11/16" | 4.8x17.5 500 10 340.-
6-9 | B8/16'x3/4” | 4.8x19.0 500 10 357.-




